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WL n=1FfaN, PO): -y =(x-y)(x+y)
) (x + y)Q 9oy B, NS T B
TROT I1. /T n = k& 30 a8 9 2l
i - =d(x+y) ()
UL n=k+ 1% fag,
X2(k+1)_y2(k+1)=x2k+2_y2k'+2=X2kX2_y2ky2
=[x+ 9+ P8 - Y (R () 9
=Ax+ R+ YR -y
=A(x+ X+ Y (=)
=A(x+ )X+ P (X -y (x+y)
=(x+ )2+ Y (x=-y)]
W (x + y) @ IO B T (x + )W A Rl
TN, T=_A Pk + 1) 9 B T &9 Pk) WA Bl 31 TRl arr Rigia g
[ quitel n 2 1% fag P (n) v 2l

WE 22. 3>+ 2-gp - 9EN 8 Q A R
& R gan 7= Pn) Rl

et Pn):32"*2 - gn- 9 W& 8 W AT Bl

TROTL. n=1% forg,

g P(1):3%*'*2_-8x1-9=3'-8-9=81-17 =64=8x8
e HE= 8/ W Rl

TROT I1. AFTn =k & foIT g8 9 Bl

g 3#*2_gk-9=8)r ()

TROTIII. n=k+1% forg,
P2 _gk+1)-9
=32k+2+2_8k_8_9=32k+232_8k_17
=(8\+8k+9)32 -8-17 [t (i) Q)
=(BL+ Bk +9)9-8k-17

=72\ +72k+ 81-8k-17
=72A + 64k + 64=8(9A + 8k + 8)

Sife E= 8 Arey Bl

FHiIY, T Pk + 1) T & W4 B Pk) T Bl 3@: g s Rigia g
aH Quitdl n 2 1% g P (n) v &l
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WeH 23. 41" - 14" W& 27 F TF U 2
61 = R ganm A P(n) R
arafq P(n): 41" — 14", |&A1 27 &1 TS oA R
WU L. n=1% faw,
g P(1) =41 =14 =27 =1x 27
W 27 B TF oA B, IS T B
TROT [1. /1 n = k% foIT a8 9 Bl
Iy a4tk - 14 =270 ()
TROTIII. n=k+ 1% fom,
4t 14 =4 41-14 14 = 270 + 14 41— 14k 14 B () [
=27A x 41+ 14¥ x 41-14% x 14
=271 x 41+ 14* (41-19)
=27A x 41+ 14K x 27 =27 (41) + 14¥)
W% 27 @1 O Bl
TN, T Pk + 1) T & 99 A P(k) TG R 3 TR smmR fygia g
| quifet n 2 1% faw P (n) = R

AT 24. 2n + D < (n + 3)?
& W R gen A Pln) &)
g P(n):@n+ 7)< (n+ 37

WO n=1F Y, PN:2x1+7<(1+32=9<16
e T R
TROT I1. AFTn = k& foIQ a8 9 B
arafq 2k +7 < (k+ 3P ()
TROTIIL. n=k+ 1% fomg,
2K+ 0D +7=2k+2+7 =@k+7)+2<(k+ 32 +2

=k>+9+6k+2 RigOR!
=k® 4+ 8k+16-2k—-5
=(k+ 42 - (2k + 5)< (k + 47 [ (@+ b =a? + 2ab + b?]

=[(k+1)+ 3P
=2 Rk+1)+7]<[k+1)+3F
TN, A Pk + )T & 9 T Pk) T B 3 R amms fgia grn
b+t quiidi n 2 1% fw P () R

ANe gy 8 wUNT e Foan=k+1, 9 89 371 95 & 3l
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